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General Instructions :

1. The question paper consists of four sections - A, B, Cand D. Section - A consists of 4 questions
of 1 mark each; Section - B consists of 6 questions of 2 marks each; Section - C consists of 10
questions of 3 marks each and Section - D consists of 11 questions of 4 marks each.

2. All questions are compulsory.

3. In questions on construction, the drawing should be neat and clean and exactly exact as per
the given measurements. User ruler and compass only.

4. There is no overall choice. However, internal choices have been given in some questions.

Attempt any one question in such cases.
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SECTION - 'A' (@g-‘31))
Question number 1 to 4 carry 1 mark each.

T TE 1 § 4 9% YAF U9 1 3iF H 2

How many non-square numbers lie between 5> and 6*? 1
52 Q1 62 % s fepal erqol o Head §72
Evaluate x if 16x = (172 -15° ) 1

x 1 WA @ FI, AR 16x = (172 -15°) B
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10.

Name the solid generated by rotating a rectangular sheet of paper about its
breadth.

TS 1 Teh AR IS i HIeSE +1 R FAM T I 39 SThfd sl M
liggell

Write the number of faces of a triangular Pyramid.

T eeR fie & waenl & §e fafen)

SECTION - 'B' (@S- ‘H)
Question number 5 to 10 carry 2 marks each.
T He 5 9 10 T TS I 2 3 T

) ) 6+/35

Simplify (<A $||3Q) ¢ 7=

PR V315
OR ( 3141

Evaluate (A J@ HIST) : 675x48

A shopkeeper buys a water tank for ¥1240 and pays 10 as riskshaw fare.

He sells it for ¥1325. Find his gain or loss percentage.
Teh HFER A 1240 § UM 1 T <ot Tl 10 Rerm w1 fohwen a6 &

€ 39 71325 H o9 fEam SHa Ay A1 Bifq gfded 9| sifem)

Evaluate : 3/-343x512
Y=343x512 1 HE A HifSQ|

Find the total surface area of a cube whose volume is 1728 cm?.
39 Tl YUY &Sl T1d RIfST SRt ST 1728 em®

The Perimeter of the base of a cuboid is 14 cm and its lateral surface area is 231
cm?. Find its height.

Tk TI9 & STUR 1 GRAE 14 9. 3 =R o w1 &shd 231 o 9
21 SN HT SATE TG RIS

The area of trapezuim is 12m?. find the sum of its parallel sides, if the

distance between them is 3m.

T T &A% 12 T . 7| AR THRT FHHIR qesti & = w1 g 3
et € df FEFia qonetl w1 "7 A shifer)
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16.

17.

SECTION - 'C' (@8- ‘W)
Question number 11 to 20 carry 3 mark each.
T e 11 ¥ 20 TF TAF WA F 3 3 B

Evaluate : (UM A ahifeld) 3/ﬁ+3f@_1
27 0.125

Find the smallest number by which 3072 must be divided so that the
quotient is a perfect cube. Find the cube root of this quotient.

9% Bl ¥ BRI WA A ST NEH 3072 &l 90 HH & G99 AR
T U B9 U< Bl 3H TR Rl IS A1d hitea|

Alabourer gets ¥2250 for 9 days work. How many days 8 should be work to get ¥3500.
T AR H1 9 5T+ w3 & 22250 I B €1 23500 FAR & fAu @

fehde T ™ ST T

Find the least number which must be added to 6543 to obtain

a perfect square. Also find the square root of the number so obtained.

98 B 9 B & #6543 H Sed W TH QUi o W Bl 59
T & 1 I 1 i)

A general wants to arrange his 27225 cadets in rows and columns such that
number of rows is equal to the number of columns. Find the number of
rows.

T SRA AT 27225 U F TW W W Efeem wxa ¢ fw ufwEe &6
T, T e H Gl 1 HEA % SR B Yo% Ul § Ee WiMen! Wi
TE A hifed|

Show that (3mn + 2n)? - 3mn - 2n) 2 = 24mn 2.
29T fF (3mn + 2n)2 - (3mn - 2n) 2 = 24mn 2

Akshay bought a mobile for 313,500 including 8% VAT. Find the price of the
mobile before VAT was added.

& 7 TH HEsa 8 Wfawa H  § o2 w e 213,500 T Ry
qeq § ¥ d2 ed oA T R

OR (3AYaT)
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19.

A dealer purchased a washing machine for 7660, He allows a discount of 12%

on its marked price and still gains 10%. Find the marked price of the machine.

T AR 7 27660 H HUS & &I A BHRT 3T 12% H B2 4 W o
10% <A1 19 SHAMEN| HA 1 3Afhd Hod G hifsU)

< fos [/
Find x and y.

M Apfa H m AR nllp @ 1/5/ K > 1

x 3Ry TH 1d Hife) n

In the given figure /||m and 7|l p.

N

OR (3AYaT)

In the given figure show that

(i) AB||CD

(i) CD] |EF

(iii) AB]| |EF

Give reason for each part F
& T gl # < )
i) AB||CD

(ii)) CD] |EF D
(iii) AB]| |EF

Todeh AT H HROT i Sy

A\ 2

Mayank paid the following amounts for quantity of petrol filled in his bike.
Litres of Petrol 5 8 10 15
Cost of Petrol (%) 250 400 500 750

Draw a graph to show this information.

=1 anft ® < T gE @ e Eifen)
T () 5 8 10 15
e (®) 250 400 500 750

Alternative question for visually challenged student in lieu of Q. No. 19.

. ¥ 19 & WE W e aifya faanfda & fau defeas go=

What is the number which when multiplied with it self gives 3906257?
a€ HEeN 41 7, 9 wWE W qon % W 390625 Wiwd giar 82
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21.

22.

23.

Draw a line segment AB =7 cm and find a point M on it such that
AM:MB=3:5.

Teh 7 9Hl 1 I@EUE AB TIfHUl W@ W T 695 M 38 @& § Afha sifvT

fh AM:MB=3:5 =l

Alternative question for visually challenged student in lieu of Q. No. 20.

. E. 20 & TN W gfe arfaq faenfda & fag denfeus wo=

Naveen bought some cricket balls at ¥250 for 4 balls and sold them at ¥340 for 5

balls. Find the gain or loss percent.

Tol 3 B ToRehe &1 7] 2250 T 4 TIQ1 o AE BUKT q1 3% 3340 HI 5 Wl
& ag | o < SHRT A9 A ' gfavd Id shifea)

SECTION - 'D' (@s-‘T))
Question number 21 to 31 carry 4 mark each.
T HEew 21 ¥ 31 T TAF WA F 4 3 B

Find the square root of 7 correct to 3 decimal places.
& 7 F A IHAT & dF LI Toh G TG i)

Mr. Somnath maintains a farm for old and homeless animals. It has 20 animals
and food provision to last for 8 days. After 2 days 10 more animals join the farm.
For how many days will the provision last now and what value is displayed by
Mr. Somnath.

S Gy TE U EH e H € W@l 98 R SR SR ®d &
®E W 20 U R SR 8 T w1 dieH wmh #1 9 T W, 10 SR wgre

S ®mH H AR ST €, 9l 9dise {6 98 v ore TR feT e SR g
St i | Sfed gou gwiid &2

Atrain170 mlong takes 18 sec. to pass a tunnel at the speed of 50 Km/ hr. Find the length

of the tunnel.

T el e e 170 W7, 18 ¥hve § 50 fhA. wiaever % wEe
AT W UH G R IR Fl 1 G HI A 1@ i)
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25.

26.

OR ( 379@T)

A train moving at a speed of 75Km/hr. covers a distance in 4.8 hrs.

What shold be the speed of the train to cover the same distance in 3 hrs.?

Tk el 75 TRt gfasien & wHEeT 9 Uh g 4.8 S W 9 L 21 SE
Tl 3 W H T H o fou et & Fn T g afeu?

A man buys a plot of land for ¥ 3,00,000. He sells 1/3rd at a loss of 20% and 2/5th
at a gain of 25%. At what price must he sell the remaining land so as to make an

overall profit of 10%.

Teh SEHT 23,00,000 § STHA TEd g1 SEH W T fqe SHH i 98 20
Tfaerd 1 B W 59 3@ € g THHA % 2/5 90 W Y 25 qfavd T ol
B 21 o g2 A 9% fhd <M W S 39 9R 91 9 % 9% 10 gfave
1 9 B

A dealer buys an article for ¥ 380. At what price must he mark it so that

after allowing a discount of 5%, he still makes a profit of 25%?

Teh SO %380 ® U WM TRl 81 39 W 1 oo ifha fepen @ fw
5 Yfqerd ol ®e <4 & gvEr ot 25% K1 A9 7

Factorize (OHEE HIfST) :

1
If x—l: 5, find the value of x* +—
X X

1
Ifg x—lzs, x4+F5|'T[ M A hifsT|

X
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27. Infigure ABCD is a trapezium with
AD || BC and exterior ZXAE of isosceles X
AABE with AB = AE is 110°.
Find ZDAB and £ DAE.
& T opfa § ABCD UF THAE § A /N0 D
fSe AD||BC %, 991 AABE T
Tafgatg e & foad AB = AE @I
qfe /XAE =110°%, @ ZDAB 3R
Z DAEJq wifu)

B E C

28. Plot the following points on the graph. A(2, 3), B4, 3), C(2, 6), D(0, 6) connect the
points in order to get a closed figure ABCD. What type of figure do you get. Read

the graph to find the height of the figure formed.

Ru T fo=g3T A(2,3), B4, 3), C(2,6), D(0, 6) ! i@ T ifehd shifay| g fagstl

FI FAMER A 39 YR W hfd ABCD &1 A d %918 dEu|

Alternative question for visually challenged student in lieu of Q. No. 28.

U E. 28 @ TN W gfe arfq faenfdet & fag denfeus wo

A roller 2.5 m in length and 175 cm in radius when rolled on a road was found to

cover a the area of 5500 m?. How man revolutions did it make?.

2.5 T @arg qen 175 9 B o T Yol "o W =eid §99 5500 o o

FT AT 9T FE ¢l WA FE H 98 fohdd Feept o 22

29. Factorize ([UFES HifST) :

4(x+ y)* - 28y(x + y) + 49y
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30. A solid iron cuboidal block of size 4.4 m X 2.6 m x 1m is cast into a hollow
cylindrical pipe of internal radius 30 cm and 5 cm thickness. Determine the

length of the pipe.

Th @R & TN Tt o 4.4 W, SeE 2.6 @SR 1 W ?1 sH fusen
F TH SRR URY a9 St @ foree! eafes e 30 9 i R 5
ot T1 Y FT A9 T S

31. Find the area of a trapezium whose parallel sides are 20 cm, 10 cm and other two

sides are of equlal length which is 13 cm.

Teh HHH 1 &% 1A SIS TS TG qonsti i oo 20 S 3R
10 T 1 <A STHEE yStet i e 13 9 2l
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